
Chemistry 256   Workshop #11 Exercise    Spring 2016 
Prof. Loyd Bastin 

1. Provide a synthesis for cis-3-penten-2-ol using any organic compounds containing no more 
than 2 carbons and any inorganic reagents of your choice. 
 

2. Starting from compounds containing no more than four carbon atoms, inorganic reagents of 
your choice, ether, and pyridine provide syntheses of the following molecules. 
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3. Propose plausible syntheses for the following two molecules. You can only use those organic 
molecules found in the Toolbox below and any inorganic reagents. 
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